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educes to Caytey’sl fmnula if c- = pa - 1 and all ocher q’s L 

we derive a CQmmQn extension of these two fQrnlulas+ 
eneral class of structrnes called (&,d)-trees. 

(&&tree is a simpldai ccmplex formed by stwxssively 
es whose size is specified by a multiset 4% of positive in- 

new simplex interseclrs an old simplex in a set of size cl, 
e rest of its vwtices are new. 

suit is the f~ll~wjn~~ the number of (&,&-trees cm PI 

la~~gl~gd vertices (with t5 detcni3ined by ii and d) is 

TOQ&,dj aBg--‘_ , 
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and QUA result reduces to 

is is Nusimi’s fiarmula fQP the number of mixed csmplete star trees 
with block sizes specified by ii. 

t Pfw.~f. This is based on the idea of Clarke’s prmf 13 ] of Cayley’s 
,rmtrla and makes use of Qhe fullswing k-nfde lemma, easily prwed 
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ute the total nurn 
ent, this is equal to 
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0091 [ 7 I,. This s a rdinement of Cayley’s rewlt which asserts that 

xi ** ci, the sum txo + . . . + x, ) be :omes 
-Qence the total number of (&cl)-trws w 

oted partitions ?r = { 

n be ~art~tiu~~d in exactly A ways (srr;e for 
). Henkx the total nurr~ 

c&ate result has independent interest, WC 
state it as a separate t~~~~r~rn. 

In the 4x42 of ordinary trees this re&.w~ to the ustial %rmula PF? 
The partition n ust be the trivial partitic?n into single tens, and ever:~ 
tree is p~tit~~R~d 5y TL Hence, iI3 PIGS case the ~~~r~ssi~~~ A”-’ enu- 

belled! tre::s. In the GMT of k-trees a p.xrtition T consists of 
~~~~s~~ as root and sSn ns for the r~rn~i~i~~ ~~~~ts. 

erases roated es, and dividing by A yields 



zner,allzed Pri_ifer code would consist Of- a rule for assoeia- 
vIng a ‘Gxed partition 7r with (rpl -‘- 1 }~tupleS C?f inte- 

i diffku!ty is this: whiie thr: ordi- 
S, it is dJkult to pnzdkt which 
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ptacedute gives 3 

&ton a. It remains 

m ‘- * possible (?a3 .- - % )-tuples 
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eds., 


